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;', .'' .. : , : Max. Marks: 75
Note: This questron paper contains two parts A and B. 

-- -:- '"
Part A is compulsory which tuoi.,. 25 marks. Answer ail questions in part A" part B
;STTii JIi.T;f rl*' ;,";,'J L'l',iil; f:ilil ffi e ac h u n i r - E ;; ; ; ; -, i o n c arri es

(25 Marks)l,a) Distinguish between s}rrnmetric and asymmetrrc multl

? ,,,',r?;iff.1he 

elsend'r pi"p""i" ol r,,..u.;;;;;t;ffn';lJ ;fi'ffi;*",* ,,",'i,]n,
c)Whatisaciispatcherprocessl.[xplainitsro]e,...
d) Describe the differen;;;;;;;;"r...*o,,ve 

schccruJer.and non_preemprire r.n.ojiJ.
e) What is the need of dl,nariic ioading and dynar_1ic linking? i3ln 

,,, "o'uin 
the riifference-* t;;;;; ,*nternar'*r,s,,,.,,,;,iu,, ,u,t exreinai ,rr*r,.n,il,in.

g) Definc rn.unting. \\,ur ir lhc nced.tbr-mtlunting rn a l.irc:1srcr,, ijjh) what are the typic,l o;r*ro,i.r,,r'it ir.on be performecl on ciirecrorv?i) what is deadrock? wriat is r,rrr*uor: H"; ;;,rr.iliii.. r."#i.n orher/ [ij) what are the various n.,r,oor roiiror".tr.,n rno u.""or'conrroi? 
i3j
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with regarctr to file
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4. Follo.wing rs the snapshot ol a CpU
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, :...,FCFS (Firqt..ComeFJX{ H.?:X**Td."1l.rl:,"^* rurnaround time and waitins ti

i,T:l,ff ffi fl l;ij,T,'li"J:::1,:::"'i:;i":',i#'i;;ffi .".i'fi :#j:,:T!B time of the jobs for
'..' ,'' Time Firsr)'.and'"R.R (Round R;n; ,;,r,'i;-;HiJ,"";lll.iff.,ir?iffi::#;:riii[i



monitors rvith exanipie pscitdo codc.

6. Explain the common techniques for structuring the page table.
OR

\:tcrlt in r.rhrch nrcrnr)r-\ con\r\tr ot'thc lullowing hole sizes tit?.b;' ' ''6onstder e,su'allplng s,

nrcrnury orcler: t(i KB. J KR. l(l KB. itJ KLl. Kii.', KFi. l: Ktl. und l5 KB. Whreh

i'ioie rs taken f'or sllcce:jsrv'e segirent requests,.it': ir) i,1 Kil iii) l0 KB (iii;9 KI] ior
iirst I"rt, best fit, worst l-it, atlr,l ttext {'ii apDroaciles,

bl Erplain brietly abuiit I-.[j( j Page repiacen-iettt aigorttltrti,

8. Explrttn thc [uIisu'rn! \\ ]Lh l'clc\ rttlI tliagt'atns:

a) Two ievei directorY structure.
b) Acycli c-graph director,v strilcture.

OR
{)"a} Explarn any tu,o rnetlioris useC to protect user iilcs',t,tlh exantple-s.

b), Discuss the log struciured file s)'stem implenlenlatron.

10. Consider the fbllowing snapsirot o1'a system:

Processes Allocation Max Availabie
AtsCD ABCD ABCL)
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,.., . "pZ ,.. ,0.0 3 4
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,A,nswer the iollowing quesiions using the banker's aigorithrn:
a) What is the crrnicr:t of the mittrix Need?

..,:..,,.,;.""bjtrsthesystem.inasafcstiite?Why?: " '"" ' '.) Is the s5rstern currentil,deiidlo;ked? Wh;,or'why not'/

d) Which pl'ocess, ii' an1,, or mav become deadlociied rf this rvhole reque-sL is grantecl

ir-nmediately?
r^ 1 a 1:i _,+ 1+ /+ 1l

OR
I i .. fit the capabiiitl,-baseii s1,sicrn, ciescribe the ieciruiques. which can be useC tt-. protect

'.... :.,"the capabiltties from unautlror:zed moriification. i I0]
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...'.....':...oR.-..],::
5. ''' What is a'rironitor? Expiain how clinttrng philosopiter"s prtrbletn is solved using
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